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Adaptive Tuning Mechanism for Apache
Based on Real-time Monitoring

WU Fei, LUO Jun, LI Wei

(School of Computer Science, National University of Defense Technology, Changsha 410073)

Abstract

In order to improve the performance and the QoS of Apache server constantly, an adaptive tuning mechanism for Apache based on real

time monitoring is introduced, which uses an analytic performance model combined with combinatorial search techniques to complete some tuning

tasks as the workload changing. A model with this mechanism is designed into Apache, and the function of each module, the technology and

algorithm of model is depicted. An experiment is conducted for evaluating the efficiency of this mechanism.
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NumHops « 1;

acurr «~ Cy:

Coew < Ch;

Repeat;

Improved « False;
MaxQos < Qos(C curr)
For i=1 to 2 do
Begin

If ¢ -12¢™

Then If
Then

Qo0s(C curr — i) > MaxQos
Begin
MaxQos « Qos(&w* r,):
Chrew <= Courr— 15
Improved « True;

End
If ¢ +1<c¢™

Then If Qos(écurr+ I:) > MaxQos

Then Begin

MaxQos « Qos(acuwr ri);
énew <« écurr+ I:;
Improved « True;
End
End
Corr <~ C\s
NumHops <~ NumHops +1;
Until (—Improved | (NumHops = MaxHops))
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